	[image: image1.emf]0.2 0.4 0.6 0.8 1.0



0.004

0.003

0.002

0.001

0.001

0.002

0.003




China: Base run
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India: Base run
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China:0.75 pp increase in rate of investment
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India:0.75 pp increase in rate of investment
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China: 1 pp increase in wage growth
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India: 1 pp increase in wage growth
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China: 2 pp increase in depreciation rate
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India: 2 pp increase in depreciation rate
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China: 0.5 pp increase in productivity trend
	[image: image10.emf]0.2 0.4 0.6 0.8 1.0



0.015

0.010

0.005




India: 0.5 pp increase in productivity trend
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China: .15 pp decline in labor force growth
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China: .3 pp decline in labor force growth


